TUR—I A L2
18R GERR{ER

+HKERR)
RUR—L b L2

BEERZF. (M. 3004-1)

1-1 3% A

BEFET

1-2 28 AL (REIEHE)

DRFET
ey 1.0
oA FEMER VPOIS0 i=10.0% L=1.5m -
+EKE ) VR®IS0 i=10. 0% L=2. On
VR®I50 i=10. 0% L=6.6m R | 2 ke 2|
= = 51 FEA
VOIS0 i=10_0% L=5.9n_\ SR H'f 0% (FERER =
ST = THKE
yPo1SD i= = VPOIS0 i=10.0%0 |= 8 bm
2-3 IBARL GMBIEH %) ofom\ JURELE) E]
07, S - i ¥ =)
- <00 3 7 - =
g VROTE (=10, 0% =30 80
2-5 15 AFL oy X =
> T ——— | 170150 i=10. 0%
s Frr sy o o1 I3 Anoia
i Ul 3 T2
. = \
v i=10.0% L=2.0m ~ cf
B Ly o 2 @ D
Y -1 |8
2-6 18 /) BAT
1)
U
¢

J

41 15AF, \\_
VP 150 i=10.0%: L=8.8
P 150]=10.00 1288 |

1
50.i=10 o
™

0

9
B

2 \
AW
4-2 15AH
—=

VP®IS0 i=10. 0% L= 42 1

g
W
VPOILU |
&
g
0

3-2-BA ,‘#iﬁ
— D L]
L] iﬁ a D
3 ) E E
S 1 | =
Ay e = = )
&y

St A
BR (FRERE)

] 3-3 1BAR
ly
\

[ o
&
£y
=11
o otz 0.0 L1 34 1BAR
N & ZAR
3-5/18 A5l
N X

e
3
2
=2

" on,

- NEA SETR AR

" > 3

| & N : TIELH IRES

! _ s ] R | i
% FABAHEFER  @avqa] AR

[ #m 21 %3 7 [mmas] o
Ed H H &
3 H

o g ] i




